The hopping sequence used by each device 1s pseudo-random. Please provide a sample
of a hopping sequence for each device if possible.

Sorry , we can’t provide the sample as there isn’t redundant product now
and the time is urgent

Each frequency within the hopping sequence (of each device) is used equally on average.

The receivers hop at the same time with the transmitter. The RF input bandwidth of the
receiver is the same as the transmitting device.

Long data streams are fransmitted over multiple hops on multiple frequencies.

We have added section “5.3.3 Pseudorandom Hopping Algorithm”

on RSS2100 and RSS2100A two reports.
And the amendment reports uploaded to web site.



